TAKE HOME EXAM 2

Select the best answer for each of the following items. Mark only one answer for each item. Answer all items. Your grade will be based on the total number of correct answers, 

1. In assessing the objectivity of internal auditors, an independent auditor should 

A. Evaluate; the quality control program in effect for the internal auditors. 

B. Examine documentary evidence of the work performed by the internal auditors. 

C. Test a sample of the transactions and balances that the internal auditors examined. 

D. Determine the organizational level to which the infernal auditors report. 

2. In planning an audit, the auditor's knowledge about the design of relevant internal control policies and procedures should be used to 

A. Identify the types of potential misstatements that could occur. 

B. Assess the operational efficiency of the internal control structure, 

C. Determine whether controls have been circumvented by collusion. 

D. Document the assessed level of control risk. 

3. Able Co. uses an online sales order processing system to process its sales transactions. Able's sales data are electronically sorted and subjected to edit checks. A direct output of the edit checks most likely would be a 

A. Report of all missing sales invoices. 

B, File of all rejected sales transactions. 

C. Printout of all user code numbers and passwords. 

D. List of all voided shipping documents. 

4. Which o£ the following auditor concerns most likely could be so serious that the auditor concludes that a financial statement audit cannot be conducted? 

A. The entity has no formal written code of conduct. 

B. The integrity of the entity's management is suspect. 

C. Procedures requiring segregation of duties are subject to management override. 

D. Management fails to modify prescribed controls for changes in conditions. 

5. Management philosophy and operating style most likely would have a significant influence on an entity's control environment when 

A. The internal auditor reports directly to management. 

B. Management is dominated by one individual. 

C. Accurate management job descriptions delineate specific duties. 

D. The audit committee actively oversees the financial reporting process. 

6. Which of the following is a management control method that most likely could improve management's ability to supervise company activities effectively? 

A. Monitoring compliance with internal control requirements imposed by regulatory bodies. 

B. Limiting direct access to assets by physical segregation and protective devices. 

C. Establishing budgets and forecasts to identify variances from expectations. 

D. Supporting employees with the resources necessary to discharge their responsibilities. 

7. In an audit of financial statements in accordance with generally accepted auditing standards, an auditor is required to 

A. Document the auditor's understanding of the entity's internal control structure. 

B. Search for significant deficiencies in the operation of the internal control structure. 

C. Perform tests of controls to evaluate the effectiveness of the entity’s accounting system. 

D. Determine whether control procedures are suitably designed to prevent or detect material misstatements. 

8. Which of the following is an example of a validity check? 

A. The computer ensures that a numerical amount in a record does not exceed some predetermined amount. 

B. As the computer corrects errors and data are successfully resubmitted to the system, the causes of the errors are printed out. 

C. The computer flags any transmission for which the control field value did not match that of an existing file record. 

D. After data for a transaction are entered, the computer sends certain data back to the terminal for comparison with data originally sent. 

9. Which of the following types of evidence would an auditor most likely examine to determine whether internal control structure policies and procedures are operating as designed? 

A. Gross margin information regarding the client's industry. 

B. Confirmations of receivables verifying account balances. 

C. Client records documenting the use of EDP programs. 

D. Anticipated results documented in budgets or forecasts. 

10. Which of the following internal controls most likely would reduce the risk of diversion of customer receipts by an entity's employees? 

A. A bank lockbox system. 

B. Prenumbered remittance advices. 
C. Monthly bank reconciliations.

D. Daily deposit of cash receipts. 

11. In obtaining an understanding of an entity's internal control structure policies and procedures that are relevant to audit planning, an auditor is required to obtain knowledge about the 

A. Design of policies and procedures pertaining to the internal control structure elements. 

B. Effectiveness of the policies and procedures that have been placed in operation. 

C. Consistency with which the policies and procedures are currently being applied. 
D. Control procedures related to each principal transaction class and account balance. 

12. Which of the following control procedures most likely could prevent EDP personnel from modifying programs to bypass programmed controls? 

A. Periodic management review of computer utilization reports and systems documentation. 

B. Segregation of duties within EDP for computer programming and computer operations. 

C. Participation of user department personnel in designing and approving new systems. 

D. Physical security of EDP facilities in limiting access to EDP equipment. 

13. Which of the following is a control procedure that most likely could help prevent employee payroll fraud? 

A. The personnel department promptly sends employee termination notices to the payroll supervisor. 

B. Employees who distribute payroll checks forward unclaimed payroll checks to the absent employees' supervisors. 

C. Salary rates resulting from new hires are approved by the payroll supervisor. 

D. Total hours used for determination of gross pay are calculated by the payroll supervisor. 

14. Which of the following controls would a company most likely use to safeguard marketable securities when an independent trust agent is not employed? 

A. The investment committee of the board of directors periodically reviews the investment decisions delegated to the treasurer. 

B. Two company officials have joint control of marketable securities, which are kept in a bank safe-deposit box.

C. The internal auditor and the controller independently trace all purchases and sales of marketable securities from the subsidiary ledgers to the general ledger. 
D. The chairman of the board verifies the marketable securities, which are kept in a bank safe-deposit box, each year on the balance sheet date. 

15. In assessing control risk, an auditor ordinarily selects from a variety of techniques, including 

A. Inquiry and analytical procedures. 
B. Reperformance and observation. 
C. Comparison and confirmation. 
D. Inspection and verification. 

16. The risk of incorrect acceptance and the likelihood of assessing control risk too low relate to the 

A. Allowable risk of tolerable misstatement. 
B. Preliminary estimates of materiality levels. 

C. Efficiency of the audit. 

D. Effectiveness of the audit. 

17. Which of the following statements is correct concerning an auditor's assessment of control risk? 

A. Assessing control risk maybe performed concurrently during an audit with obtaining an understanding of the entity's internal control structure. 

B. Evidence about the operation of control procedures in prior audits may not be considered during the current year's assessment of control risk. 

C. The basis for an auditor's conclusions about the assessed level of control risk need not be documented unless control risk is assessed at the maximum level. 

D. The lower the assessed level of control risk, the less assurance the evidence must provide that the control procedures are operating effectively. 

18. An auditor assesses control risk because it 

A. Is relevant to the auditor's understanding of the control environment. 

B. Provides assurance that the auditor's materiality levels are appropriate. 

C. Indicates to the auditor where inherent risk may be the greatest. 

D. Affects the level of detection risk that the auditor may accept. 

19. Assessing control risk at below the maximum level most likely would involve 

A. Performing more extensive substantive tests with larger sample sizes than originally planned. 

B. Reducing inherent risk for most of the assertions relevant to significant account balances. 

C. Changing the timing of substantive tests by omitting interim-date testing and performing the tests at year end. 

D. Identifying specific internal control structure policies and procedures relevant to specific assertions. 

20. After assessing control risk at below the maximum level, an auditor desires to seek a further reduction in the assessed level of control risk. At this time the auditor would consider whether 

A. It would be efficient to obtain an understanding of the entity's accounting system. 

B. The entity's internal control structure policies and procedures have been placed in operation. 

C. The entity's internal control structure policies and procedures pertain to any financial statement assertions. 

D. Additional evidential matter sufficient to support a further reduction is likely to be available. 

21. An auditor who uses statistical sampling for attributes in testing internal controls should reduce the planned reliance on a prescribed control when the 

A. Sample rate of deviation plus the allowance for sampling risk equals the tolerable rate. 

B. Sample rate of deviation is less than the expected rate of deviation used in planning the sample. 

C. Tolerable rate less the allowance for sampling risk exceeds the sample rate of deviation. 

D. Sample rate of deviation plus the allowance for sampling risk exceeds the tolerable rate. 

22. In addition to evaluating the frequency of deviations in tests of controls, an auditor should also consider certain qualitative aspects of the deviations. The auditor most likely would give broader consideration to the implications of a deviation if it was 

A. The only deviation discovered in the sample. 

B. Identical to a deviation discovered during the prior year's audit. 

C. Caused by an employee's misunderstanding of instructions. 

D. Initially concealed by a forged document. 

23. When there are numerous property and equipment transactions during the year, an auditor who plans to assess control risk at a low revel usually performs 

A. Tests of controls and extensive tests of property and equipment balances at the end of the year. 

B. Analytical procedures for current year property and equipment transactions. 

C. Tests of controls and limited tests of current year property and equipment transactions. 

D. Analytical procedures for property and equipment balances at the end of the year. 

24. An auditor suspects that a client's cashier is misappropriating cash receipts for personal use by lapping customer checks received in the mail. In attempting to uncover this embezzlement scheme, the auditor most likely would compare the 


A. Dates checks are deposited per bank statements with the dates remittance credits are recorded.

B. Daily cash summaries with the sums of the cash receipts journal entries.


C. Individual bank deposit slips with the details of the monthly bank statements.

D. Dates uncollectible accounts are authorized to be written off with the dates the write-offs are actually recorded.
25. In testing controls over cash disbursements, an auditor most likely would determine that the person who signs checks also 

A. Reviews the monthly bank reconciliation. 
B. Returns the checks to accounts payable. 
C. Is denied access to the supporting documents. 

D. Is responsible for mailing the checks. 
26. For effective internal control, the accounts payable department generally should 

A. Stamp, perforate, or otherwise cancel supporting documentation after payment is mailed. 

B. Ascertain that each requisition is approved as to price, quantity, and quality by an authorized employee. 

C. Obliterate the quantity ordered on the receiving department copy of the purchase order. 

D. Establish the agreement of the vendor's invoice with the receiving report and purchase order. 

27. In determining the effectiveness of an entity's policies and procedures relating to the existence or occurrence assertion for payroll transactions, an auditor most likely would inquire about and 

A. Observe the segregation of duties concerning personnel responsibilities and payroll disbursement. 

B. Inspect evidence of accounting for prenumbered payroll checks. 

C. Recompute the payroll deductions for employee fringe benefits. 

D. Verify the preparation of the monthly payroll account bank reconciliation. 

28. In obtaining an understanding of a manufacturing entity's internal control structure concerning inventory balances, an auditor most likely would 

A. Analyze the liquidity and turnover ratios of the inventory. 

B. Perform analytical procedures designed to identify cost variances. 

C. Review the entity's descriptions of inventory policies and procedures. 

D. Perform test counts of inventory during the entity's physical count. 

29. A weakness in internal control over recording retirements of equipment may cause an auditor to 

A. Inspect certain items of equipment in the plant and trace those items to the accounting records. 

B. Review the subsidiary ledger to ascertain whether depreciation was taken on each item of equipment during the year. 

C. Trace additions to the "other assets" account to search for equipment that is still on hand but no longer being used. 

D. Select certain items of equipment from the accounting records and locate them in the plant. 

30. An auditor's letter issued on reportable conditions relating to an entity's internal control structure observed during a financial statement audit should 

A. Include a brief description of the tests of controls performed in searching for reportable conditions and material weaknesses. 

B. Indicate that the reportable conditions should be disclosed in the annual report to the entity's shareholders. 

C. Include a paragraph describing management's assertion concerning the effectiveness of the internal control structure. 

D. Indicate that the audit's purpose was to report on the financial statements and not to provide assurance on the internal control structure. 

31. Brown, CPA, has accepted an engagement to examine and report on Crow Company's written assertion about the effectiveness of Crow's internal control structure. In what form may Crow present its written assertion? 

I. In a separate report that will accompany Brown's report. 

II. In a representation letter to Brown. 

A. I only. 

B. II only. 

C. Either I or II. 

D. Neither I nor II. 

32. Computer Services Company (CSC) processes payroll transactions for schools, Drake, CPA, is engaged to report on CSC's policies and procedures placed in operation as of a specific date. These policies and procedures are relevant to the schools' internal control structure, so Drake's report will be useful in providing the schools' independent auditors with information necessary to plan their audits. Drake's report expressing an opinion on CSC’s policies and procedures placed in operation as of a specific date should contain a(an) 

A. Description of the scope and nature of Drake's procedures.
B. Statement that CSC's management has disclosed to Drake all design deficiencies of which it is aware. 

C. Opinion on the operating effectiveness of CSC’s policies and procedures. 

D. Paragraph indicating the basis for Drake's assessment of control risk. 

33. An auditor may achieve audit objectives related to particular assertions by 

A. Performing analytical procedures. 

B. Adhering to a system of quality control.

C. Preparing auditor working papers. 

D. Increasing the level of detection risk. 

34. The confirmation of customers' accounts receivable rarely provides reliable evidence about the completeness assertion because 

A. Many customers merely sign and return the confirmation without verifying its details. 

B. Recipients usually respond only if they disagree with the information on the request. 

C. Customers may not be inclined to report understatement errors in their accounts. 

D. Auditors typically select many accounts with low recorded balances to be confirmed. 

35. Which of the following sets of information does an auditor usually confirm on one form? 

A. Accounts payable and purchase commitments. 

B. Cash in bank and collateral for loans. 

C. Inventory on consignment and contingent liabilities. 

D. Accounts receivable and accrued interest receivable. 

36. An auditor’s analytical procedures most like would be facilitated if the entity 

A. Segregates obsolete inventory before physical inventory count. 

B. Uses a standard cost system that produces variance reports. 

C. Corrects material weaknesses in intern control before the beginning of the audit 

D. Develops its data from sources solely within the entity. 

37. To measure how effectively an entity employs its resources, an auditor calculates inventory turnover by dividing average inventory into 

A. Net sales.
B. Cost of goods sold. 
C. Operating income.

D. Gross sales. 

38. An advantage of statistical sampling over nonstatistical sampling is that statistical sampling helps an auditor to 

A. Eliminate the risk of nonsampling errors. 

B. Reduce the level of audit risk and materiality to a relatively low amount. 

C. Measure the sufficiency of the evidential matter obtained. 

D. Minimize the failure to detect errors and irregularities. 
39. The usefulness of the standard bank confirmation request may be limited because the bank employee who completes the form may 

A. Not believe that the bank is obligated to verify confidential information to a third party. 

B. Sign and return the form without inspecting the accuracy of the client’s bank reconciliation. 

C. Not have access to the client’s cutoff bank statement. 

D. Be unaware of all the financial relationships that the bank has with the client. 

40. An auditor most likely would limit substantive audit tests of sales transactions when control risk is assessed as low for the existence or occurrence assertion concerning sales transactions and the auditor has already gathered evidence supporting 

A. Opening and closing inventory balances. 
B. Cash receipts and accounts receivable. 
C. Shipping and receiving activities. 
D. Cutoffs of sales and purchases. 

41. Which of the following procedures would an auditor most likely perform in searching for unrecorded liabilities? 

A. Trace a sample of accounts payable entries recorded just before year end to the unmatched receiving report file. 

B. Compare a sample of purchase orders issued just after year end with the year- end accounts payable trial balance. 

C. Vouch a sample of cash disbursements recorded just after year end to receiving reports and vendor invoices. 

D. Scan the cash disbursements entries recorded just before year end for indications of unusual transactions. 

42. An auditor traced a sample of purchase orders and the related receiving reports to the purchases journal and the cash disbursements journal. The purpose of this substantive audit procedure most likely was to 

A. Identify unusually large purchases that should be investigated further. 

B. Verify that cash disbursements were for goods actually received. 

C. Determine that purchases were properly recorded. 

D. Test whether payments were for goods actually ordered. 

43. Which of the following explanations most likely would satisfy an auditor who questions management about significant debits to the accumulated depreciation accounts? 

A. The estimated remaining useful lives of plant assets were revised upward. 

B. Plant assets were retired during the year. 

C. The prior year's depreciation expense was erroneously understated. 

D. Overhead allocations were revised at year end. 

44. Which of the following circumstances most likely would cause an auditor to suspect an employee payroll fraud scheme? 

A. There are significant unexplained variances between standard and actual labor cost. 

B. Payroll cheeks are disbursed by the same employee each payday. 

C. Employee time cards are approved by individual departmental supervisors. 

D. A separate payroll bank account is maintained on an imprest basis. 

45. The objective of tests of details of transactions performed as substantive tests is to 

A. Comply with generally accepted auditing standards. 

B. Attain assurance about the reliability of the accounting system. 

C. Detect material misstatements in the financial statements. 

D. Evaluate whether management's policies and procedures operated effectively. 

46. A primary advantage of using generalized audit software packages to audit the financial statements of a client that uses an EDP system is that the auditor may 

A. Access information stored on computer files while having a limited understanding of the client's hardware and software features. 

B. Consider increasing the use of substantive tests of transactions in place of analytical procedures. 

C. Substantiate the accuracy of data through self-checking digits and hash totals. 

D. Reduce the level of required tests of controls to a relatively small amount. 

47. The work of internal auditors may affect the independent auditor's 

I. Procedures performed in obtaining an understanding of the internal control structure. 

II. Procedures performed in assessing the risk of material misstatement.
III. Substantive procedures performed in gathering direct evidence. 

A. I and II only. 

B. I and III only
C.  II and III only. 

D. I, II, and III.  

48. Which of the following statements is correct concerning an auditor's use of the work of a specialist? 

A. The auditor need not obtain an understanding of the methods and assumptions used by the specialist. 

B. The auditor may not use the work of a specialist in matters material to the fair presentation of the financial statements. 

C. The reasonableness of the specialist's assumptions and their applications are strictly the auditor's responsibility. 

D, The work of a specialist who has a contractual relationship with the client may be acceptable under certain circumstances. 

49. Which of the following is an audit procedure that an auditor most likely would perform concerning litigation, claims, and assessments? 

A. Request the client's lawyer to evaluate whether the client's pending litigation, claims, and assessments indicate a going concern problem. 

B. Examine the legal documents in the client's lawyer's possession concerning litigation, claims, and assessments to which the lawyer has devoted substantive attention. 

C. Discuss with management its policies and procedures adopted for evaluating and accounting for litigation, claims, and assessments. 

D. Confirm directly with the client's lawyer that all litigation, claims, and assessments have been recorded or disclosed in the financial statements. 

50. Which of the following procedures would an auditor most likely perform to obtain evidence about the occurrence of subsequent events? 

A. Confirming a sample of material accounts receivable established after year end. 

B. Comparing the financial statements being reported on with those of the prior period. 

C. Investigating personnel changes in the accounting department occurring after year end. 

D. Inquiring as to whether any unusual adjustments were made after year end. 

51. Which of the following matters would an auditor most likely include in a management representation letter? 

A. Communications with the audit committee concerning weaknesses in the internal control structure. 

B. The completeness and availability of minutes of stockholders' and directors' meetings. 

C. Plans to acquire or merge with other entities in the subsequent year. 

D. Management's acknowledgment of its responsibility for the detection of employee fraud. 

52. Cooper, CPA, believes there is substantial doubt about the ability of Zero Corp. to continue as a going concern for a reasonable period of time. In evaluating Zero's plans for dealing with the adverse effects of future conditions and events, Cooper most likely would consider, as a mitigating factor, Zero's plans to 

A. Discuss with lenders the terms of all debt and loan agreements.
B. Strengthen internal controls over cash disbursements. 

C. Purchase production facilities currently being leased from a related party. 

D. Postpone expenditures for research and development projects. 

53. The permanent (continuing) file of an auditor's working papers most likely would include copies of the 

A. Lead schedules. 
B. Attorney's letters. 
C. Bank statements.
D. Debt agreements. 

54. Harris, CPA, has been asked to audit and report on the balance sheet of Fox Co. but not on the statements of income, retained earnings, or cash flows. Harris will have access to all information underlying the basic financial statements. Under these circumstances, Harris may 

A. Not accept the engagement because it would constitute a violation of the profession's ethical standards. 

B. Not accept the engagement because it would be tantamount to rendering a piecemeal opinion. 

C. Accept the engagement because such engagements merely involve limited reporting objectives.  

D. Accept the engagement but should disclaim an opinion because of an inability to apply the procedures considered necessary. 

55. Which of the following statements is a basic element of the auditor's standard report? 

A. The disclosures provide reasonable assurance that the financial statements are free of material misstatement. 

B. The auditor evaluated the overall internal control structure. 

C. An audit includes assessing significant estimates made by management. 

D. The financial statements are consistent with those of the prior period. 

56. An auditor may not issue a qualified opinion when

A. An accounting principle at variance with GAAP is used.

B. The auditor lacks independence with respect to the audited entity. 

C. A scope limitation prevents the auditor from completing an important audit procedure. 
D. The auditor's report refers to the work of a specialist. 

57. An auditor most likely would express an unqualified opinion and would not add explanatory language to the report if the auditor 

A. Wishes to emphasize that the entity had significant transactions with related parties. 

B. Concurs with the entity’s change in its method of computing depreciation. 

C. Discovers that supplementary information required by FASB has been omitted. 

D. Believes that there is a remote likelihood of a material loss resulting from an uncertainty. 

58. Under which of the following circumstances would a disclaimer of opinion not be appropriate? 

A. The auditor is unable to determine the amounts associated with an employee fraud scheme. 

B. Management does not provide reasonable justification for a change in accounting principles. 

C. The client refuses to permit the auditor to confirm certain accounts receivable or apply alternative procedures to verify their balances. 

D. The chief executive officer is unwilling to sign the management representation letter. 

59. Which of the following auditing procedures most likely would assist an auditor in identifying related party transactions? 

A. Inspecting correspondence with lawyers for evidence of unreported contingent liabilities. 

B. Vouching accounting records for recurring transactions recorded just after the balance sheet date. 

C. Reviewing confirmations of loans receivable and payable for indications of guarantees. 

D. Performing analytical procedures for indications of possible financial difficulties. 
60. Digit Co. uses the FIFO method of costing for its international subsidiary’s inventory and LIFO for its domestic inventory.  Under these circumstances, the auditor’s report on Digit’s financial statements should express an


A. Unqualified opinion.


B. Opinion qualified because of a lack of consistency.


C. Opinion qualified because of a departure from GAAP.


D. Adverse opinion.
